Maths sheets — Yr5
(Maths sheet 1) w/c 4 May

I Use the place value to lete the multipl grid

' Multiply 2-digits (area model) = © Amir i using base 10 to calculate 31 x 24

@) Add the missing information to the area n g@l and sentence.
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@ «im is using base 10 to work out 31 x 22 QOO 000000
Use Kim's model to help you complete the sentences. 2 gg 222?23 : M &
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° Use an area model to help you complete the multiplication.
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There are @ hundreds altogether.
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e A machine makes 2,734 boxes every hour.
The machine works for 3 hours each day.
a) How many boxes will it make in 12 days?

,l'\
s 82032 i
Tio—re * | 2 k)
T e Loy
; \?,",OLSQ Q 1R 8y
Fer Day- 98873 4 paces 2%
In iQ

d°as

b) Compare methods with a partner. Were there any other ways
you could have worked out the answer?

© workoutsmx7x12
S k. Show your method clearly.
‘ Tommy is calculating 1,234 x 26 * ]
o) Complete his working out. BN L& TSFars [ H
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—

Divide with remainders

o a) Circle the groups of 3 to help complete the sentences
and calculation.

The first step has been done for you. A
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There lsmg"o‘up of 3 thousands.

There ungmuw of 3 hundreds.
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o Calculate the perimeter of each shape.
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Calculate perimeter : ©  colcuiote the perimeter of these

° Work out the missing lengths on these shapes.
a) b)

@ Vo thinks that there is not enough information
perimeter of the shape. 2

10 cm

Discuss with a partner how you worked them out.

‘ Calculate the perimeter of these shapes.
a) b)




